C:# Ausdriicke umschreiben Name:

Schreiben Siejeden Ausdruck in seiner einfachsten Form um. Antworten
YV (pr6)-(7pre) )
2
P (Viq-9)- (e .
4.
Y (VE-2)- (Vo 16) ;
6.
Y (e 2)+ (e ) .
8.
K -(2/9W-5)+(8/9W+17) 9.
10.
6)

(YD -3)- (VD +16)

D Yy -20) - (Ygv -17)

¥ (Y r6)- (YT 12)

9)

(VA-17) + (VA +12)

O YM-7) - (T - 2)
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ﬂh Ausdricke umschreiben

Name:

L dsungsschltissel

Schreiben Siejeden Ausdruck in seiner einfachsten Form um.

Y (%p+6)-(Vp+6)

10 15
/ooP+6-"7o0P-6

P (V-9)-(Ziq+s)
7,Q-9-7,Q-8
Y (VE-2)- (V- 16)
2 uE-2- "V uE + 16
Y (Ter2)+ (Fac+ 1)
iC-2+ T C+ 7
¥ (Ygw-5)+ (Vg +17)
W +5+ T + 17
¥ (%D-3)- (%D + 16)
2 D+3-%D-16
D (YooY -20) - (Ygv -17)
oY +20- VoY +17
¥ (Y r6)- (YT 12)
YT -6- 7T +12
¥ (Ya-17)+ (YA +12)
TA 1T+ A +12
10)

(VM -7)-(ToM - 2)

20 15
- /25M + 7 - /25M + 2

9.

Antworten

7,oP+0

7/,Q-17

3
/,,E+14

N

7, C+5

Y W+12

*7,:D-13

N

14
/Y +37
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